do / dAg [pb]

Ratio to CMS

=
o
()]

=
o
(6)]

10%

10°

10?

10

0.5

7000 GeV pp bb
[~ r T T o T T T T 0
E A([Xb-jetS) (pTJIead > 56 GeV, hJleadI <3) - 5
- =
| —
™
= EL
— — d
— [ 1=
- [
= u - — %
= v ==
[ = [ | ~/ ] x
_ . / \ _
~ ‘ 1o
- i ey
@
o™
= / =
= Ho
— Jm
— A5 1<
- m CMS ' — ;
— —— Pythia 8.308% =k
— Pythia 8. tune-1 35
- a>—Pylhia 8.308 tune-2c 1<
- Pythia 8.308 tune-2m | 8
— 3 U
— =he
- - o
| | ©
| P I I IR B | P I I IR B | P I I IR | =
:l T T T T | T T T T | T T T T | :
— =2
//\ 2 1
| —0.5
I S T T N T T T T S T TR l
0 1 2 3

A between two B hadrons



	Contents
	Page 1


